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i >JW /()] de — J"[s“’m]%u — J [F(x) — S () dx

J —6.269 72" +4.702 32*—0.205 9x+0.355 5, x€[0.25,0.30]

S(x)=

b
+ ZJ S"([ f(2) — S () Jdas

“ )% f(I;‘):S(~Ti)(i:0917"'977)95&;#3 X i‘j*ﬂ?ﬁ%A@‘\?H a
=x, <<z, <-<<x,=0b,N

J"’s”m[f’(x) () dr = S DLF ) — S ()]
—S" D[ f (@) — S (@]

b
WEER i) j [/ () — S () Pdx
= J'h[f’<x>]2dx+r [S"(x) J2dx — 2J"'f”<x>s“’<x>dx
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nl Tt
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+ Zs///
k=0
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¥ f(o)eCla,b]. Rk P, (2)€H, span{ 1.z, 2" ) fdi
| f=P,; || .=min || f=P, | ..
PrleHn
def
K |l f=P, || .=—=max | f(x) =P, ().

2. REFHEE A

w f(x)eCla,b], 3k
def

S (»ed span{gy (2) s () s+, () } CCLa,b ], fHi 15

| f=S" | i=min| f=S|?3
Seo
) def [? )
Ll r—=s 22:J [f(2)—S() o) d.
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3. REE L =AEE BA
Bl @=span{1,cosx,sinx,cos2x,sin2x,++-cosnx,sinnx | [ f {3
V-5 8 3 [A)

4. gESE A
FHIE i

n
k
§ a,x

del P, (2) __ k=0

QH’I(‘T) -
St

k=0

M eRBGE AL () € CLla,b] #1453 || f(2) —R,, () || - /N
(5] R R S e AR A B —BOE T 45 || /() — R, (o) || /MY
5] & Ay fe A A Y- 5
VBRI R R T (Weierstrass) 5 # K A0 BT IH (Beprimreiin) 25 Wi 2
L. BR/RETS R BT E 18
& f(2) € CLa o], WXHATAI] &0, BAFE— D ZIRK p(2) Ml
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2. BREHEZ M
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k=0 n

Mt (1—x)"*
k

(Ot 2 () eC[0,1],MImB (fo2)=f" (2)

n—>co

QSR D) [Pi@) = D) Puo) =(ata—DI=1
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OFENE  [B,(f,20) |<0{¥}%2<]‘f(1‘) =1 f1I-
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= WREEH
L I L] b B 5 BB oo 25 26 T+
(D be”‘o(x)dx HEAE AR (= 01,0,

b
(2) XAE AT L2 PR AL g (o) ,%J g (@ p(x)dx = 0, WHELa,b]

I glax) =0.
B o) RIX Wl La, 0] [ HIALE #.
2. W f().g(a) € Clasb)p(x) E[a.b] ERIFRE T

b
(fop) = [ oo fogorda

FRNRE f(0) 5 g fEla.b] FHIRF.
Tt F2 N BRUE U pR RS R PR AR =5 i)
3- & f(.T) e (:(avb)vﬁ‘

171 = [ oo f ode = VTP

Pl () HBRERSE 2.
4. XHEM] fig € Cla bl FHIEE IR -

DO | (o "< (fL (g, g) (W FR K Cauchy — Schwarz A~
ERD

D ftgl.< Irll+ el (ZARER;

G | fteglitlr—gli=20Cl i+ [l gl HCEATMA
ERER.

M ExXZ S

LENX
Z I T (@, () b0 WS 2

def 4
(g0, —J o) (D) () p(2)dx =
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B IERWENEERZTIT ES
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__ 1 da
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nREBXEGHRE] - |, EXTFTEEZIRIINITER.
()WL E K (Chebyshev) MK E[ — 1,1 ] B p(2) =

e Z W, E Ll

1
V1—2%
T,(x) =cos(narccosx), |x|<1
JEEA T 5 3 R
DT, (o) TR R LOE 2" (n=1).

QO(T, . Ty)=n. <T,,,T,,>:§ (n=1,2,).

On F LR T, 8 &K n g ar Bt T, 0 AT eR AL

@T, 7E[— 1.1 n N o, =cos 2};1

Tok=1,2,%",
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/ME— 1.

OT,= 171 T, A E IR 1 » k2 TUE S e

e Il FHEEE A RIENITER.
I RE-BELSTR

W f(a) & Lab] LESRE H, ST A REBORN G n 1 250
RESTE H, Tk P (0@ f(o) fHHRE
max\f(x)*P (x)\—mln\f(r)*P ()|
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X 5l TS S — BUE IR Lhebyshev Bk
EX 3.1 P,(x)EH,,f(x)eCla,b), K
A PO= I f=P, || o =max|f(x)—=P,(2)|
K ()5 P, (O FE[a,b] EIRE.
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Y



F3E HYPERESHZBE

ACf,P;)=FE
J”'JﬁTP*(1‘>%f(r)ﬁ[a,b]LE’J%1i HiEE MK &R
EZEREEZMN, iR EEELSTR.

NREFHFER

L. f(x)€Cla.b]#E p=span{g, @1 >0, CCla.b] I B I
J7 18 i S:ao§0<)+a1§02+"'+au§0u sRB U a RE TR

(SDO 9900) (§00 7501) RS (sDo ’SD”) o (fygDo)

def (@15@()) (§01,§01) g 1 (SD]?QD,,) a _ (f,ng)
(us) (@uspr) = (@ur@) | [4n (frp)
E@ﬁ@rﬂi¥ﬁiﬁ%£ﬁ
| 6 113 = = Fl5= 27 a(frg)

k=0

Ay B 2 S X
o= fapdes | f1.=Crpt
2. BF ERENBEFHER
B ) € Cla b B @ A1 IESSHE g, ).
(DRIKBEAX [T o P EAET T #E ik

S (= agi— }j Sop)

= (prrg0)?
iR
, - N (foop)?
2= 1713— Dalg.n =1 flz—> Yoo
=0 k=0 H SDIJ H 2

(2) MZE /R (Bessel) AER
Dlai e < I £
=1
+t HE&MEHE/NZRE

X T 25 5 EE (s yi) (= 0,1, N, VEERZR 1 TC 5 1) bR B0
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i=0 k=0
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i fi , Forp
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e B4R 5 75 R 3 AR S B 7 0.
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J\ B E (Padé) 1EiRE

ENX 3.3 & ()€ V' (—a,a),N=n+m, NEHIERKE
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1+bx++0b,x" Q. (x)

Hp P,(0) 5 Q,(x) TAKHKHW R
PX ) = fP0) (B=0,1,,N)
TFR R, (2) AR f(2) £ 2 = 0 49 () B ATEIE IR
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ABPIAMEFRAINIS
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M AKX f—P) || o =min| f—P, | 5

al:%:ﬁﬂ%o.uw

() =z,//1F+2i=V2—1,7%
=y \/?71 UZQ [
Z (T) 0. 4551
H fa) = /T Fxia1.0986
A
a():%[f(0>+f(12)]_d1

FRGH £ =V1+2"7[0,1] E— k& fE—H0E i
EAIEV
P, (x)=0.955+0.4142x
A X (8] v 25 00 JE T Chebyshev 2248 & 4H . ik
A(f’Pl):og:lié‘f(I)_Pl‘
= £(0)—P, (0| =0. 045
(60 2] R T 50 REY =k e dd: — 3aE i 2 05
(D fo)y=22",2€[—1,1];
2)f(x)=za2",2€[0,2].
FRRR M A% A 1 eR AIE I 1Y — R — BoE i 2 KL
BaEE (O W"ReE—-SEE2mnh P, (0. T2 2
—P; (o[- 1, 1] FEEEARENERRECN 1
IR 22 I A
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FIFEH &0 WA go =1, g1 =a—d, F 8B HE R
VIR EAS R
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JETT R Ax = b B9 /N TSR X I R i 7 B 41
ATAx=A"bs % = RITIE SR R R T B LA AR Y IR
2 WKL RS Y R A O i il 2 X
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[%15) Fi Chebyshev £33k e [ —1,1 ] b ARy ism 2 it

RBSAT AL TR T S Kk

MBI  FIH Chebyshev 2350 & . i LU S X ][ — 1.17 L1 i
B fCOXMBTELZHART, ()} (n=0,1.)1]"
X Fourier &%k

_ﬂx>=%ﬂﬂ1u>+me1»+@Txxw+m

=5+ > a0
k=1

Hrh ar = éjl f(x)Tk(I)dka =0,1,---
TJ—-1 /1_1.2
TR b 3R GBS 3 0

Si(@) = T+ >jaTi(@
k=1

WS, (x) SEbr LR f () FEL 45 ] @ = span{ T, , T, ,
s Ty oI FeAdSF O 3 3 2239 5K
f(x) = e i) Chebyshev & FF 2 B HiT LI Y R ECUTF R R,
k 0 1 2 3 4 5
ap |2.532132 1.130318 0.271495 0.0443368 0.00547424 0.00054293
FIHXA REER TSR AR e 75— 1,10 B —3m =
W A 7 8 3 2 5053 5
Si(x) = 1.266066 + 1. 130318z
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MBS AEEA T R J7 T 2 T SRk DL CF T R 2
I SE
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2
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1
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1

2
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1

2
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1

1
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90”(1"x Y =—2p" () (") — p(x ) (2" ) —2¢(z")
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v(0.5) A y, = 0.500

y(1.0) a~ y, = 1. 142 012 708
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e xty, 0<<ax<l1 )Y Tt <<
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T D 1 ya 2) % v
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3) BB AXITE B K A TR
ST AR A T RO AR E k.
fE (1) FHBRPLIE K AR A b W) (B[R] B, 5 Ak =— 100A ¥ &
| 1+ (—100h) |< 1
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